Communicate what you know about the given equation on each leg of the web.
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� EMBED FXE300.Equation  ���





   Table of Values





Increasing or decreasing line?


Explain how you know.





Does this line pass through the origin?


Explain how you know.





Is the line � EMBED FXE300.Equation  ��� parallel to or perpendicular to the given line? Or neither?  


Explain how you know.





Variables:	


Independent: ____ Dependent: ____





Does the given line pass through the origin?


Explain how you know.





y-intercept: _______





slope: _______





Is the given line an increasing or decreasing line?


Explain how you know.
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